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(10+8) s#3 W

Try: 1. Qa3? [2. Seqd+
2. Kdd 3.Qc3 .. Rxc3#]
But 1. __ Sb3l

Try: 1. Sc17 [2. Sfo+
2. Kdd 3. Qc3 . Rxc3#
But 1. ___ Kddl

Solution: 1. Sg1! [2. Sf6+
2. Kdd 3.Qc3 . Rxc3#]

1. ... Qah 2. Qf3+
2. Kdd 3. Qdh . Qxd5#

1....g52 Sfe+
2. Kd4 3. Qc3 ... Rxc3#

1. ... Kd4 2. Qc3+
2. Ked 3.Qcd . Rxcd#
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Solution: 1. Sdb6! [2. Rud5+
2. Rxd5 3. Qe3d . Kxe3#]

1. ... cxbb 2. Red+ (2. Rf57 cdl)
2. . dxed 3. Qcd+
3. Ke3+4 Qc3 . Bxci#

1. ... Rxef 2. Rxh4+ (2.Qg1+7 Kc3l)
2. .. Red 3. Rxed+
3. dwed 4. Queh . Kxch5#

1. ... Kxeb 2. Qed+ (2.Qf4+7 Keb+l)
2. Kf6 3. Qeb+
3. Kgh+4 Qeb5 _ Bxef#
3. KgT 4 QfF L KxfT#
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2 i ﬁ'%@ Comm.
i
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Solution: 1. Ka5! waiting
1. ... Kecd 2. Qxed+ (2.Re3+7? Kchl)
2. .. Bd4 3. Bh2 waiting
3. .. Kxch 4. Rci+
4. Bxc3+ 5 Qb4 . Bxbd#

1. ... e3 2 Rd3+ (2.Ra3+7 Kcal)
2. Kxch 3. Scb waiting
3. . KxcB 4. QdV+
4 Kch 5 Rel . Bxc3#




KB6/P2P2Q1/2k3P1/P7/P4P2/1N6/1INP5/6rb

DA

# % @ THOHUH AnekcaHap AMmUtpuresny
@ 2 (Tyunin Aleksandr Dm.)
# MK Muwko 2020
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Solution: 1. d8=B! [2. Qd7 ... KxdT#]
1. Kd5 2. Qe5+ (2.Qe7? Rg2!)
2. Kch 3. Qe8+
3. Kd5 4. Qeb . Kxeb#

1. . Rd12. Sxd1 [3. Qd7V . Kxd7#] (2.Qe7? Rd6l)
2. Kd5 3 QeV [4. Qeb ___ Kxeb#]
3. . KBcd+ 4 Qed . Bxed#
3. Keb 4 Qd7 . KxdT#

1. ... Rg2 2. Qf [3. Sd3 waiting (2.Qe77? Kdsl)
3. R~4 Qd7 .. Kxd7#
2. Rd2 3. Qe8+
3. Kd5 4. Qeb . KxeB#
3. . Rd7T 4. Qxd7 ... KxdT#
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Solution: 1. 5f1!
-2 Rgh+
2. K4 3 Rf5+
3. KxfR 4 Qufi+
4 . Qf4 5 5g3 ... Sxgi#

1. . Rf8 2. Rxf8+
2. Qxf3 3. Rgs+
3. . Kit 4. Rf5+
4. . Kxf5 5. Qxf3 .. Bxf3#

1. . Kf 2 Qed+
2. Kf5 3. Rgh+
3. ... Sxghb4 Sg3+
4 CQwxgd 5 Qxgb .. Qxgh#




